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- 371 STOIRNN RY N2
He had relations with her and she became betrothed, what is the ruling

Overview

In our mwn there is a dispute regarding a 7wIANN AOIRNIY 7791, where *2°737 °01 "
maintains that there is no 01p (if someone was 01X¥» her after the 7Pw17°)), and X2py "
maintains that she receives the 017 money (not her father). However ¥"9 in a Xn»92
maintains that her father receives the 01p. Here in our X723 there was a query what is
the ruling in a case where %Y X2 (when she was a 7119) and afterwards (before the
01p was collected), she was 1107&n1, what is the ruling regarding the 017. Our M1501N
explains according to which opinion was this query posed.

- T8YY NOIP NYIIN NTIRNY INRT 1Y N2 Xp PRINNT XIYPY *a9Y
This query is according to ¥'9 of our mw», who maintains that in a case of

AN 7eaRN1 the 01 belongs to her (but not to her father); the query is -
- IRYYY NOIP RN 103D PIPY AND MY IREY 113 199NN 107

Do we then say that since she left the domain of her father regarding °1p,

therefore the 01 should belong to her -
- 1%aNY NP NN ANN MYIN NP NY 25950 INY 1239941 1199 YT IN

Or perhaps since regarding other matters, she does not leave the father’s nyw,

the o1 should belong to her father -
= MAND NPT NVIY 3NNIH2T XIYPY 2299 DAN

However according to ¥''7 in the Xn>>12, it is obvious that 77°a8% 57037 in this case,

since (even) by nwaan1 70781 he rules 77287 703p -
= 5759 Noyarn KD 93 40P 1Y 1PN 9INRT 9N Y9501 Y01 229D)

And there is no query also according to 3'"71°9, for granted that 3"7°7 maintains

that there is no 21 by nw-ann 708N, nevertheless there is no query -

' The act of 101X (generally) removes the 77v1 from her father’s domain regarding 01p; this is the ruling of ¥"1 that
if AwAann 70981 and afterwards someone was 0IXn her, 7282 701P (not 7°axY). The reason is because the oI
removes her from her father’s mw=, therefore in the query also, her 01X (after the o1X) should remove the oip
payment from the father and it should belong to her.
2 This is referring to her 1w p and 7°7> 7wyn which, as a 77w, belong to her father.
3 See ‘Overview’. There is more reason that 7728 7037 if she was 7701X1 while she was never an 70178, than when she
was 10181 after 7wIANN 70NN
4 Seemingly there could be an ®°¥2°R according to 3", for we can argue that only by 7w 3nn 708N (where the 01X took
place after [7w1an1] 7078N1), there is no 03P (according to 2"71"), since she was already an 701X before the time of the o1y,
however in our case where the 013X took place before she was ever an 701K, perhaps there is 01p, and perhaps not.
5 There would be 01p to her father, for she was 7wIX & at the time of the 01X. See footnote # 7.

1

TosfosInEnglish.com



X2 1"7 '0mn X,07 M2 .7"02

- 6NN ANYT NIIWIN PO DIVN INY DD NY PNT XY
For the reason that there is no 917 by w9 N1 70781, is not because the 77017’

removed her from her father’s nw- -
= AN MY HYD POIVIND X9 DY D 1Y PRT 7NN 21NN 591 NON

Rather the reason there is no 01p by 7w73n1 707XN1 is because it is a 23277 N9

that there is no o012, and she does not leave at all her father’s nww9 by 101K -
- DOINNT 23 Y N 1T YN NOWITPA INIT ANYT

For the father has the rights in her P217°p and her handiwork even though she
was betrothed.

Mmoo responds to an anticipated difficulty:
$99°2N7 $X2PY 295 NHYNT DIYN 111I NN NIYPY 229D 9INRP XD DND NY ¥ XPT XM

And the reason X217 posed this query unspecified, and did not state specifically
that this query is only according to ¥''1 of the 71wn, is because the 7715%7 is like ¥''9
against his colleague.

Summary
The query of X217 is (only) according to ¥" of our mIwn.

Thinking it over

moon explained why X237 did not say that his query is according to ¥"9,” however
why did he not say that it is according to ¥"7 of the 71wn, but not according to ¥"9 of
the xn»122!1°

6 If that would have been his reasoning, then there could be a valid query; is this reasoning only if she was an 7017
before the o1, or even if she became an 701X after the o1; similar to the query according to ¥
7 See x,17 that 3" derives his ruling (that 03p 7% 1°X) from the 7105 (in v,35 [2*woWn] NW) which states (regarding a
77w »1n°0) that WK XY WK, then she receives 01p, but not if 707X, However if there was no 7°017°X before the "0
or 01X, there is no reason that the father should not receive the 017 (for the 2"7°1 does not apply).
8 3"7 is the only one who disagrees with ¥", therefore the 7377 is like ¥"9, so X271 assumed that we would understand
that his query was 139777 according to ¥"1 (of the mwn). See ‘Thinking it over’.
? See footnote # 8.
10 See (text by) footnote # 3.
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